Контрольное задание № 1

Для того чтобы правильно выполнить задание № 1, необходимо усвоить следующие грамматические темы.

I. Множественное число имени существительного. Выражение падежных отношений в английском языке с помощью предлогов и окончания «-s». Существительное в функции определения и его перевод на русский язык.

а) Множественное число имени существительного.

Множественное число имеют только исчисляемые существительные. Общее правило образования множественного числа: 

	                               N + s (es)

	      [ s ]

         [ z ]

         [ iz ]

       cats
         pens
         boxes



Множественное число существительных, оканчивающихся на f (e):

	f (e) – v + s (es)

	shelf – shelves
wife - wives


Множественное число существительных, оканчивающихся на y:
	согласная + y ---- i+ es
	гласная +y ---- +s

	family- families
	toy - toys


Множественное число существительных, оканчивающихся на o:

	согласная + o ---- + es 

	hero - heroes


Исключения:

	man- men (мужчины)

woman – women ( женщины)

tooth – teeth (зубы)
	foot – feet (ступни)

child – children ( дети)


б) Выражение падежных окончаний с помощью предлогов и окончания “-s”.

В английском языке два падежа: общий и притяжательный. Общий падеж не имеет специальных окончаний ( an example,a table). Существительное в общем падеже может переводиться на русский язык разными падежами в зависимости от его функции в предложении. Функция существительного определяется:

1) его местом в предложении( подлежащее- соответствует русскому именительному падежу; прямое дополнение- соответствует винительному падежу);

2) наличием перед ним предлогов «of»( из), «to» (на, в), «by» (у, к, посредством), «with» (с), «about» (около, приблизительно).

Притяжательный падеж обозначает  принадлежность предмета или лица и отвечает на вопрос «whose» (чей?). Существительное в притяжательном падеже имеет окончание:

1) « -’s» ( апостроф и буква s) в единственном числе:

our teacher’s lecture- лекция нашего преподавателя;

2) «’» (только апостроф) во множественном числе:

the students’ drawings –чертежи студентов.

в)Существительное в функции определения и его перевод на русский язык.

Для английского языка характерно употребление в роли определения одного или нескольких существительных, образующих цепочку слов. В такой цепочке последнее существительное является основным, а все предшествующие ему слова определением к нему. Существительное в функции определения переводится:

1) прилагательным,

room temperature- комнатная температура;

2) существительным с предлогом или без него,

a physics teacher- преподаватель физики,

the institute radio equipment laboratory- институтская лаборатория радиооборудования.

II. Степени сравнения имен прилагательных. Конструкция « the more …. the less».

	
	Исходная форма
	Сравнительная степень
	Превосходная степень

	Односложные и некоторые двусложные прилагательные
	short – короткий

big – большой

easy- лёгкий
	shorter – короче
bigger – больше
easier - легче
	the  shortest- самый короткий
the biggest- самый большой
the easiest- самый лёгкий

	Двусложные и многосложные прилагательные
	important- важный
	more important – важнее, более важный
	the most important- самый важный

	Прилагательные, образующие степени сравнения не по правилу
	good - хороший
bad - плохой
much, many- много
little- маленький
far- дальний
	better- лучше
worse- хуже
more- больше
less - меньше
farther, further- более отдалённый
	the best – самый лучший
the worst- самый плохой
the most- самый большой
the least- самый маленький
the farthest, furthest – самый отдалённый


В конструкции «  the( more) ….. the (less)» артикли, стоящие перед прилагательными, переводятся « чем ….., тем». 

The lower the temperature is, the slower the motion of the molecules is.

Чем ниже температура, тем медленнее движение молекул.

The better we know grammar rules, the fewer mistakes we make.

Чем лучше мы знаем грамматику, тем меньше делаем ошибок.

The bigger the mass, the bigger the weight of the body.

Чем больше масса, тем больше вес тела.

III. Местоимения: личные, притяжательные, вопросительные, указательные, неопределенные, отрицательные.

	


Личные местоимения имеют формы двух падежей: именительного и объектного.

	Лицо
	Именительный падеж( кто? что?)
	Объектный падеж(кого? что? кому? чему?)

	
	

	                                                        Единственное число

	1-е

2-е

3- е
	I- я

You- вы, ты

He- он

She- она

It- он, она, оно
	Me- меня, мне

You- вас, вам( тебя, тебе)

Him- его, ему

Her- ее, ей

It- его, ее, ему, ей


Множественное число

	1-е

2-е

3-е
	We- мы

You- вы

They- они
	Us- нас, нам

You- вас, вам

Them- их, им


Притяжательные местоимения выражают принадлежность и отвечают на вопрос whose?  (чей? чья? чье? чьи?).Они имеют две формы: зависимую и независимую.

Which is your classroom?  - А какая ваша аудитория? ( зависимая форма)

This is my pen. And that is yours. (независимая форма, употребляется вместо ране упомянутого существительного).

Таблица личных и притяжательных местоимений

	Лицо
	Личные местоимения
	Простая форма притяжательного местоимения
	Независимая форма притяжательного местоимения
	Русские соответствия обеим формам притяжательного местоимения


Единственное число

	1-е

2-е

3-е
	I
You
He
She
It


	My

Your

His

Her

Its
	Mine

Yours

His

Hers

Its
	Мой, моя, мое, мои

Ваш(твой), ваша, ваше, ваши

Его
Ее
Его, ее


Множественное число

	1-е

2-е

3-е
	We
You
They
	Our

Your

Their
	Ours

Yours

Theirs
	Наш, наша, наше, наши

Ваш, ваша, ваше, ваши

Их  




Притяжательные местоимения, как правило, переводятся на русский язык местоимениями свой, своя, свое, свои, если они стоят в том же лице, что и подлежащее.

I help my friend in his work.             Я помогаю своему другу в работе.

Притяжательные местоимения английского предложения не всегда переводятся на русский язык.

He raised his hand.        Он поднял руку.

Вопросительные местоимения: who ( whom) – кто (кому, кого), whose- чей, which- который, what- что, а перед существительным – какой.

Whose discovery is this? – Чье это открытие?

What is this? –Что это?

What institute do you study at? – В каком институте вы учитесь?

Указательные местоимения: this, that, it, such, same.

Местоимения  this, that имеют формы единственного и множественного числа.

This- этот, эта, это.                                                        These- эти.

That- тот, та, то.                                                             Those- те.

В предложении они выполняют функцию  подлежащего или определения.

This is our plant.- Это наш завод.( подлежащее).

We work at this plant.- Мы работаем на этом заводе.(определение).

Местоимение it соответствует русскому местоимению это.

What is this? It  is a new device.- Что это? Это новый прибор.

У местоимений such (такой) и same(тот же самый, такой же) род, число и падеж зависят от рода, числа и падежа соответствующих русских существительных:

such an instrument- такой прибор
the same length- та же самая длина.

Неопределенные местоимения: some, any, every ( и их производные).

Some употребляется в утвердительных предложениях и имеет следующие значения:

1) несколько,  некоторые- перед исчисляемыми числительными во множественном числе. I have some friends.- У меня есть несколько друзей.

2)
некоторое количество, немного- перед неисчисляемыми существительными. There is some water in the tube.- В трубе есть немного воды.

3)
какой-то- перед исчисляемыми существительными в единственном числе. The engineer read about this device in some magazine.- Инженер читал об этом приборе в каком –то журнале.

4)приблизительно, около- перед числительными. There are some 50 students at the lecture.- На лекции присутствует приблизительно 50 студентов.

Any ( какой- нибудь) заменяет местоимение some в отрицательных и вопросительных предложениях. 

I have some friends .- Have you any friends?

Местоимение any употребляется также в утвердительных предложениях со значением любой, всякий.

You can find this book in any shop.- Вы можете найти эту книгу в любом магазине.

Местоимения each, every (каждый) стоят перед существительным в единственном числе и исключают употребления артикля, т.к. являются определителями существительного.

Every pupil must study a foreign language.- Каждый ученик должен изучать иностранный язык.

Each student must study well.- Каждый студент должен хорошо учиться.

Отрицательные местоимения: no( никакой, нет), none( никто). 

He has no lectures today.- У него нет сегодня лекций.

None of them answered the question.- Никто не ответил на вопрос.

IV. Глагол. Формы настоящего(Present), прошедшего (Past), будущего( Future) времен групп Indefinite (Simple) и Continuous( Progressive) действительного залога изъявительного наклонения. Спряжение глаголов to be, to have, to do.
Спряжение глаголов группы Indefinite( Simple)

	
	Вопросительная форма
	Отрицательная форма

	Present


	Do you (I, we, they) study…..?

Does he (she, it) study….?
	I ( we, you, they)- do not study (don’t)

He ( she, it)- does not study (doesn’t)

	Past
	Did I (he, she, it, we, you, they) test (go) …..?
	I (he, she, it, we, you, they) did not test (go)

(didn’t)

	Future
	Shall/ will I (we) go…?

Will you (he, she, it ,they) go…. ?
	I (we) shall not/ will not go (shan’t)

you ( he, she, it, they) will not go (won’t)


Спряжение глаголов группы Continuous (Progressive):

to be + Participle I

	
	Утвердительная форма
	Вопросительная форма
	Отрицательная форма

	Present
	I                      am asking
He ( she, it)      is asking
We (you, they) are asking
	Am I asking?

Is he (she, it) asking?

Are we (you, they) asking?
	I am not asking
He (she, it) is not asking

We (you, they) are not asking

	Past
	I (he, she, it) was asking

We ( you, they) were asking
	Was I (he, she, it) asking?

Were we ( you, they) asking?
	I (he, she, it) was not asking

We ( you, they) were not asking

	Future
	I (we) shall/ will be asking
He (she, it, you, they) will be asking
	Shall/ will I (we) be asking?

Will he (she, it, you, they) be asking?
	I (we) shall/ will not be asking

He (she, it, you, they) will not be asking


Спряжение глагола to be во временах группе Indefinite (Simple)

	
	Present
	Past
	Future

	Единственное число
	I am

He (she, it) is
You are
	I ( he, she, it) was
	I  (we) shall/ will be

He (she, it, you) will not be

	Множественное число
	We (you, they) are

	We (you, they) were
	We shall/ will be
You (they) will be

	Вопросительная форма и краткий ответ
	Are you a student? Yes, I am. (No, I am not)
Were you a worker? Yes, I was. (No, I was not)
Will you be an engineer? Yes, I will. (No, I will not)

	Отрицательная форма
	I am not an engineer.

He was not a worker.

We will not be doctors.


Спряжение глагола to have  во временах группы Indefinite (Simple)

	Present
	Past
	Future

	I (we, you, they) have
He (she, it) has
	I (he, she, it, we, you, they) had
	I (we) shall/ will have
He (she, it, you, they) will have

	Вопросительная форма и краткий ответ
	Have you got any lessons today? (Do you have any lessons today?)

Yes, I have. (No, I have not)

Did you have any lessons yesterday?

Yes, I did. (No, I did not) 
Will you have any lessons tomorrow?

Yes, I shall/ will. (No, I shall not / will not)

	Отрицательная форма
	I have no lessons today.

I have not got any lessons today.

They had no (not any) lessons yesterday.

I shall not/will not have any lessons tomorrow.


Спряжение глагола to do во временах группы Indefinite( Simple)

	Present
	Past
	Future

	I( you, we, they) do
He(she ,it) does 
	I( he, she, we, you, they) did

	I(we) shall/will do
You (he, she, it, they) will do


V. Простое распространенное предложение. Прямой порядок слов повествовательного и побудительного предложений в утвердительной и отрицательной формах. Обратный порядок слов вопросительного предложения. Оборот there + to be.

В английском языке в повествовательном предложении ( утвердительном и отрицательном) прямой порядок слов, т.е. подлежащее- сказуемое. Обстоятельство может стоять в начале предложения ( перед подлежащим) или в конце предложения. Определение не имеет фиксированного положения, т.к. может определять любой член предложения.

	обстоятельство
	подлежащее
	сказуемое
	дополнение
	обстоятельство


Порядок слов в общем вопросе.

Общий вопрос – вопрос, относящийся ко всему предложению и требующий ответа yes или no.
а)

	Смысловой глагол или глагол- связка
	Подлежащее
	Именная часть сказуемого
	Остальные члены предложения

	Is
Is

	your friend

your  friend
	-

an engineer?
	in Moscow?


б)

	Вспомогательный глагол
	Подлежащее
	Смысловой глагол
	Остальные члены предложения

	Does
	your brother
	work
	at the plant?


Порядок слов в специальном вопросе.

Специальный вопрос- вопрос, относящийся к какому- либо члену предложения. Специальный вопрос начинается с вопросительного слова ( who, what, when, where, why и др.) и требует полного ответа.

а)

	Вопросительное слово
	Основной глагол или глагол- связка
	Подлежащее
	Именная часть составного сказуемого
	Остальные члены предложения

	Where

What
	are

is


	your parents


	your father?
	now?


б)

	Вопросительное слово
	Вспомогательный глагол
	Подлежащее
	Смысловой глагол
	Остальные члены предложения

	Where
	do
	you
	live
	in summer?


При вопросе к подлежащему или его определению сохраняется прямой порядок слов.

	Вопросительное слово (на месте подлежащего) 
	Сказуемое
	Остальные члены предложения

	Who

Whose journal
	will make

lies
	a report?

on the desk?


Альтернативные вопросы состоят из двух частей, соединенных союзом or. Эти вопросы по форме совпадают с общими, но предусматривают выбор между двумя возможностями и требуют таких же ответов, как и специальные вопросы. 

	Вспомогательный глагол
	Подлежащее
	Смысловая часть сказуемого
	Дополнение
	Обстоятельства
	OR
	Альтернатива

	Does
	he
	work
	
	at a plant
	or
	at an Institute?

	Are
	you
	good
	at physics
	
	or
	at mathematics? 

	Can
	she
	speak
	English
	
	or
	German?


Разделительные вопросы являются разновидностью общих вопросов и состоят из двух частей: из повествовательного предложения и краткого общего вопроса к этому предложению.

	Обстоя-

тельство
	Подлежа-

щее
	Сказуемое
	Допол-

нение
	Обстоя-

тельство
	Вспомога-

тельный

глагол
	not
	Соответствующее

личное

местоимение

	
	This 

student
	speaks
	English
	well,
	does
	not
	he?



	Yesterday
	they
	carried out
	a very interesting experiment,
	
	did
	not
	they?


	Обстоя-

тельство
	Подлежа-

щее
	Вспомогатель-

ный

глагол
	not
	Смысло-вая

часть

сказуемого
	До-пол-

нение
	Обстоя-

тель-ство
	Вспомога

тельный

глагол
	Соответствующее

личное

местоимение

	
	He
	could
	not
	say
	
	so,
	could
	he?

	
	Your

friend
	will
	not
	take
	this

exam,
	
	will
	he?


Оборот there + be (быть, находиться, иметься в наличии) в Present и Past Indefinite.

Конструкция с вводящим there утверждает наличие (или отсутствие) какого- либо предмета (или предметов) в определенных условиях (в данном месте, в данное время, в определенных обстоятельствах).

	Утвердительная форма
	Отрицательная форма
	Вопросительная форма

	There is (was) a student in the room.
	There is (was) no student in the room.
	Is (was) there a student in the room?

	There are (were) some students in the room.
	There are (were) no students in the room.

There are (were) not any students in the room.
	Are (were) there any students in the room?


VI. Основные способы словообразования.

а) Конверсия. При конверсии от одного слова без изменения его формы образуется новое слово, относящееся к другой части речи, например:

	Существительное


	Прилагательное

	an oval- овал
a square- квадрат
	an oval figure- овальная фигура
a square window- квадратное окно

	Существительное или прилагательное


	Глагол



	a function- функция
better- лучший
	to function- функционировать
to better- улучшать


б) Образование слов при помощи переноса ударения. Существительные и прилагательные имеют ударение на первом слоге, а совпадающие с ними по форме глаголы – на втором слоге.

	an‘export- экспорт, вывоз
an‘increase- увеличение
	to ex‘port- вывозить
to in‘crease- увеличивать



в)Словообразование  с помощью прибавления префиксов и суффиксов к основе слова.

Основные суффиксы существительных:

	- er

- or

- ing

- ment

- th

- ion

- ation

- sion

- ssion

- ance

- ity

- ness

- ancy

- ence

- ency
- age
	to work- работать
to insulate- изолировать
to begin- начинать
to develop- развивать
strong- сильный
to express- выражать
to inform- сообщать
to decide- решать
to permit- разрешать
to assist- помогать

equal- равный

happy- счастливый

constant- постоянный
to differ- отличаться
to depend- зависеть
to break- ломать
	a worker- рабочий
an insulator- изолятор
a beginning- начало
a development- развитие
strength- сила
an expression- выражение
information- сообщение
a decision- решение
a permission- разрешение
assistance- помощь
equality- равенство
happiness- счастье
constancy- постоянство
a difference- отличие
a dependency- зависимость
a breakage- поломка




Основные суффиксы глаголов:

	- ate

- ify

- ize
- en
	active- активный
electric- электрический
a character- характер
deep- глубокий
	to activate- активизировать
to electrify- электрифицировать
to characterize- (о) характеризовать
to deepen-углублять


Основные суффиксы прилагательных:

	-able

- ible

- ic( al)

- al

- ant

- ent

- ful

- less

- ish

- ive

- ous

- y
	сomfort- удобство, комфорт

to convert- превращать

history- история
a form- форма
importance- важность
to differ- различать( ся)

peace- мир
home- дом
red- красный
an effect- влияние
a danger- опасность
a wind- ветер
	comfortable- удобный
convertible- изменяемый
historic(al)- исторический
formal- формальный
important- важный
different- различный
peaceful- мирный
homeless- бездомный
reddish- красноватый
effective- эффективный
dangerous-опасный

windy- ветреный


Суффикс наречия:

	- ly
	useful- полезный
	usefully- полезно


Основные префиксы:

а) префиксы с отрицательным значением

	          - не-

un -    - без(с) –

          - раз(с) -


	important- важный


	unimportant- неважный
	

	in-

im-    не-

il-      без (с)-

ir-
	accuracy- точность

possible- возможный

legal- легальный

responsible- ответственный
	inaccuracy- неточность

impossible- невозможный

illegal- нелегальный

irresponsible- безответственный


	

	          не-

non-   без(с) -
	a conductor- проводник
	a non-conductor- непроводник (изолятор)
	

	          раз( с)-

dis-    без(с)-

          не-   и др.
	to close - закрыть
	to disclose - раскрыть 
	

	miss – означает «неверно»
	to understand- понимать
	to misunderstand- неверно понять
	


б) префиксы с разными значениями:

	re- снова

     еще раз
	to write- писать
	to rewrite- переписать

	super-  сверх-

            над-
	conductive- проводимый
	superconductive- сверхпроводимый

	sub-   ниже-

          под-   и др.

          
	a way- дорога
	a subway- подземная дорога

	           сверх-

over-   пере-

           над-
	to load- нагрузить
	to overload- перегрузить

	semi-  полу
	a conductor- проводник
	a semiconductor- полупроводник

	           между-

inter-   среди-

            взаимо-
	an action- действие
	an interaction- взаимодействие

	en- для образования глагола
	large- большой
	to enlarge- увеличить

	pre- до-

       заранее
	to heat- нагреть
	to preheat- предварительно нагреть

	post-  после-
	a war- война
	post-war -послевоенный


Образец выполнения 1( к упр.IV)

	1. We time our watches by radio.

watches- мн.ч. от watch ( часы)

2.Our lab. assistant watches this scientific TV program every day.

watches- 3-е лицо ед.ч. Present Indefinite от глагола to watch

3.We hope that the young scientist’s experimental work will be successful.

scientist’s – «-’s»-окончание притяжательного падежа существительного в ед. числе.


	Мы проверяем свои часы по радио.

Наш лаборант ежедневно смотрит эту научную телепередачу.

Мы надеемся, что экспериментальная работа молодого учёного будет успешной.


Образец выполнения 2( к упр.V)

He works at one of the Moscow Research Institutes.- Он работает в одном из московских исследовательских институтов.

Образец выполнения 3( к упр.XI)

We begin our studies in September.- Мы начинаем занятия в сентябре.

Begin- The Present Indefinite Tense.

Образец выполнения 4( к упр.XII)

Does the job give her satisfaction?- Общий вопрос.

ВАРИАНТ 1

I. Прочтите и устно переведите на русский язык весь текст. Перепишите и письменно переведите первый и второй абзацы.

MSTISLAV KELDYSH (1911-1978)  

1.
Mstislav Keldysh, a well-known Russian scientist, was born in Riga on January 28, 1911. He was a very capable boy and finished school at the age of 16. He wanted to become a building engineer like his father, but one could enter an engineering institute only at 17. The boy decided to enter Moscow University to study mathematics and physics.

2.
After his graduation from the University at the age of 20, he began his research work at the Central Airo- Hydrodynamic Institute - the centre of aviation science at that time. The young scientist worked with enthusiasm and soon published a number of important scientific papers. When Keldysh was 27, he became Doctor of Sciences.

3.
The scientist did his research in the field of mathematics and airo- hydrodynamics. Later he solved a number of problems in aviation, atomic and cosmic techniques.

4.
At the same time as a professor of Moscow University he gave much of his abilities to the teaching of students.

5.
For his fruitful research M.Keldysh got two State Prizes and the government awarded him the title of Hero of Socialist Labour three  times. At the age of 30 M.Keldysh became an academician and on May 19, 1961 he became the President of the Academy of Sciences of the USSR.

II.Выберите правильный ответ в соответствии с содержанием текста:

1.  What did Keldysh want to become?

a)  a mathematician; b) a chemist; c) a building engineer.

2.  Where did he get his higher education?

a)  at Moscow University; 

b)  at the Central Airo-Hydrodynamical Institute;

c)  at an engineering institute.
3.  What field of science did he do his research in?

a)  in the field of solid state physics;

b)  in the field of atomic and cosmic techniques;

c)  in the field of electromagnetic waves.

III. Найдите соответствующие русские словосочетания.

	at the age of

a well-known scientist

was born

like his father

to enter an institute

to graduate from an institute

to do one’s research

to solve a number of problems

three times
	поступить в институт

как и отец

в возрасте

решить ряд проблем

родился

хорошо известный ученый

окончить институт

три раза  (трижды)

проводить исследования




IV. Перепишите данные ниже предложения. Определите по грамматическим признакам,    

какой частью речи является слово с окончанием «-s» и служит ли оно: а) показателем 3-го лица единственного числа глагола в Present Indefinite;б) признаком множественного числа имени существительного; в) показателем притяжательного падежа имени существительного. (см. образец выполнения 1). Переведите предложения на русский язык.

1.Keldysh solved a number of problems in aviation, atomic and cosmic techniques.

2.Einstein’s fame among scientists grew slowly but surely.

3.The result of his research work shows great achievements in that branch of science.

V. Перепишите следующие предложения и переведите их , учитывая особенности перевода на русский язык определений, выраженных именами существительными.( см. образец выполнения 2).

    1.Keldysh wanted to become a building engineer like his father, but one could enter an engineering   institute only at 17.

    2.Keldysh solved a number of problems in cosmic techniques.

    3.Keldysh began his research work at the Central-Hydrodynamical Institute- aviation science center at that time.

VI.Перепишите следующие предложения, содержащие прилагательные в различных степенях сравнения и переведите их на русский язык.

      1.Our country has a great number of the most famous scientists in all fields of knowledge.

      2.Your  experiment gives better results than mine.

      3.The more experiments scientists make, the greater is their knowledge of the matter structure is.

VII.
Выберите нужную форму глагола to be и переведите предложения на русский язык.

1. He ( is, was, will be) a very capable boy.

2. They (are, were, will be)  building engineers.

3. Central Airo-Hydrodynamic Institute ( is, was, will be) the center of aviation science.

VIII.Поставьте глаголы, данные в скобках, в Past Indefinite Tense.

1.When Keldysh was 27, he ( to become) Doctor of Science.

2.The scientist (to do) his research in the field of mathematics and airo-hydrodynamics.

3.The government ( to award) Keldysh the title of the Hero of Socialist Labour.

IX. Выберите нужную форму глагола to have и переведите предложения на русский язык. 

1. Our country ( to have, has, had) a great number of brilliant scientists in all fields of knowledge.

2. Any square ( to have, has, had) four right angles.

3. He ( to have, has, had) two sons.

X.  Заполните пропуски прилагательными в соответствующей степени сравнения.

1. Mstislav Keldysh was one of  ( famous, more famous, the most famous) scientists in the world.

2. Albert Einstein was ( great, greater, the greatest) physicist of the 20-th century.

   3.Mathematics is ( important, more important, the most important) for technical students than many other  subjects.

XI.Перепишите данные ниже предложения, определите в них видо- временную форму глаголов. Предложения переведите(см. образец выполнения 3).

1.Victor Pavlov studies at the Polytechnical Institute.

2.This great scientist did much for the development of Russian science.

3.Tomorrow the teacher will deliver a lecture on geometrical figures.

4.Victor Pavlov is reading the English book now.

5.They were analyzing the results of their research from 4 to 6 o’ clock yesterday.

6. Mike will be taking his exam at 12 o’ clock tomorrow.

XII. Задайте  общий, альтернативный, разделительный  и специальные вопросы к данному предложению (см. образец выполнения 4):

The boy entered Moscow University to study mathematics and physics.

XIII. Образуйте слова с помощью данных суффиксов. Переведите исходные и производные слова.

a) существительные:

· ity: equal, human

· ness: thick, black

· age: pass, break 

б) прилагательные:

· ful: help, wonder

· less: use, power

· ic: period, base.

ВАРИАНТ 2
I.Прочтите и устно переведите на русский язык весь текст. Перепишите и письменно переведите первый и второй абзацы.

ERNEST RUTHERFORD ( 1871-1937)

	disintegration - распад
famous - знаменитый
to found - основывать
leading - ведущий
New Zealand - Новая Зеландия
	nuclear model - ядерная модель атома
particle - частица
to scatter - рассеивать(ся)

to split - расщеплять(ся)


1. Ernest Rutherford was born in New Zealand where he lived up to 1895. At the of 19 after finishing school he entered the only New Zealand University founded in 1870. At that time there were only 150 students and 7 professors there. At the university Ernest took great interest in physics and developed a magnetic detector of radio waves. However , he was absolutely uninterested in the practical applications of his discoveries.

2.In 1895 Rutherford went to Cambridge where he continued research under Thomson ( 1856 -1940), the outstanding English physicist. There Rutherford studied the processes of ionization in gases and took great interest in radioactivity opened by Becquerel (1852- 1908), a world -known French physicist. About ten years Ernest Rutherford lived and worked in Canada. Later he lectured in leading universities in the USA and England from 1907 till 1919.

3.Rutherford‘s famous work «The Scattering of Alpha and Beta Particles of Matter and the Structure of the Atom»  dealt with so- called « atom models». All main Rutherford‘s works deal with the nuclear models. The splitting of the atom has opened to man a new and enormous soutce of energy. The most important results have been obtained by splitting the atom of uranium.

4.For working out the theory of radioactive disintegration of elements, for determining the nature of alpha particles, for developing the nuclear atom, Rutherford was awarded the 1908 Nobel Prize in chemistry.

5.Rutherford created a school of talented physicists in the field of atomic research. Russian scientists P.Kapitza and Y.Khariton were among his pupils. E. Rutherford died in 1937 at the age of 66.

II.
Закончите предложения в соответствии с содержанием текста:

1.The first university where Rutherford studied was in ...

a)  America;  b) Europe;  c) New Zealand.

2.The university was ...

a)  very old and well-known all over world;

b)  very small and quite new;
c)  very large and rich in traditions.
3.At the university Rutherford became interested in ... 

a)  physics;  b) history;  c) social sciences.

4.In 1908 E.Rutherford  was awarded  the Nobel Prize for ...

a)  his first scientific work;

b)  the practical application of his investigations;
c)  a number of researches in chemistry.
III.
Заполните пропуски, пользуясь списком слов, данных ниже:

1.At school Rurherford ... to chemistry.

2.In 1890 he ... the only New Zealand University.

3.Four years later he ... from the University and went to Cambridge.

4.In 1911 Rutherford ... a planetary model of the atom.

5.Some of his works ... with the radioactivity of different elements.

6.Being a talented organizer Rutherford ... a large school of physicits.

7.His ... have become world - known.

Created; suggested; graduated; paid much attention; dealt; entered; investigations.  

IV. Перепишите данные ниже предложения. Определите по грамматическим признакам, какой частью речи является слово с окончанием «-s» и служит ли оно: а) показателем 3-го лица единственного числа глагола в Present Indefinite;б) признаком множественного числа имени существительного; в) показателем притяжательного падежа имени существительного. (см. образец выполнения 1). Переведите предложения на русский язык.

1. Ernest Rutherford was absolutely uninterested in the practical applications of his discoveries.

2. Rutherford’s famous work “The Scattering of Alpha and Beta Particles of Matter and the Structure of the  Atom” dealt with the so- called “ atom models”.

3. A molecule consists of two or more atoms.

V. Перепишите следующие предложения и переведите их , учитывая особенности перевода на русский язык определений, выраженных именами существительными.( см. образец выполнения 2).

           1. Rutherford entered the New Zealand University founded in 1870.

            2. In 1850 Mendeleyev entered the St. Petersburg Pedagogical Institute to study chemistry.

           3. The power station is consuming a great amount of coal.

VI.Перепишите следующие предложения, содержащие прилагательные в различных степенях сравнения и переведите их на русский язык.

     1. The most important results were obtained by splitting the atom of uranium.

     2.The development of physics of metals makes the field of metallurgy broader.

     3. Carbon makes the physical qualities of metal better.

VII. Выберите нужную форму глагола to be и переведите предложения на русский язык.

     1.Ernest Rutherford ( is, was, will be) born in New Zealand.

     2.In 1870 in the New Zealand University there (  are, were, will be) only 150 students.

     3.These calculations ( are, were, will be) very complex.

VIII.Поставьте глаголы, данные в скобках, в Past Indefinite Tense.

1.When Mendeleyev was 16, he ( to enter) the Pedagogical Institute in St. Petersburg.

2.In 1895 Rutherford (to go) to Cambridge to continue his research.

3.About ten years Rutherford ( to live) and ( to work) in Canada.

IX.Выберите нужную форму глагола to have и переведите предложения на русский язык.

1.Our laboratory ( to have, has, had) a new and effective equipment.

      2.Rutherford ( to have, has, had) many pupils, and Russian scientists P. Kapitza and Y. Khariton             were among them.

     3.The Table of Elements ( to have, has, had)  vertical groups and horizontal periods.

X. Заполните пропуски прилагательными в соответствующей степени сравнения.

          1.D.I. Mendeleyev was one of (outstanding, more outstanding, the most outstanding) Russian scientists.

                   2.  ( important, more important, the most important) results were obtained by splitting the atom of uranium.

           3.Rutherford created a school of ( great, greater, the greatest) physicists in the field of atomic research.

XI. Перепишите данные ниже предложения, определите в них видо- временную форму глаголов. Предложения переведите(см. образец выполнения 3).

1.The laboratory assistant always fixes the devices himself.

2.Ernest Rutherford lived and worked in Canada.

3.The students will take an active part in the preparation for the conference.

4.The students are having their English lesson now.

5.He was writing a marketing plan yesterday.

6.She will be waiting for me at this time tomorrow.

XII. Задайте  общий, альтернативный, разделительный  и специальные вопросы к данному предложению (см. образец выполнения 4):

In 1895 Rutherford went to Cambridge to continue his research.

XIII. Образуйте слова с помощью данных суффиксов. Переведите исходные и производные слова.

а) существительные:

· ist: physic(s), telegraph, special, social

· ing: to draw, to begin, to read

· ency: effici(ent), depend(ent)

б) прилагательные:

· less: help, motion

· ant: import, resist

· ful: use, power.

ВАРИАНТ 3

I. Прочтите и устно переведите на русский язык весь текст. Перепишите и письменно переведите третий абзац текста.

NIELS BOHR ( 1885- 1962)

	Copenhagen

Royal Danish Academy of Sciences

Master of Science

doctorate

Manchester
	Копенгаген

Королевская Академия наук Дании

магистр

докторская степень

Манчестер


	
	


1. According to many scientists the history of modern theoretical atomic physics begins with Bohr’s atomic theory of 1913.

2. Niels Bohr, the great Danish physicist, was born in Copenhagen, Denmark. In 1903 he entered the University of Copenhagen and in 1907 he distinguished himself sufficiently to receive the gold medal of the Royal Danish Academy of Sciences. Two years later he received his degree of Master of Science in physics and in 1911 the doctorate, for which he had investigated the electron theory of metals.

3. In 1912 Bohr went to work at Rutherford’s laboratory in Manchester. Working at this laboratory he created his model of atom, retaining “ the nucleus and revolving electrons” of Rutherford’s atomic model and making use of Planck’s quantum theory. Bohr’s theory states that “ for each atom there exists a series of fixed orbits in which the electrons travel without emitting light. In these orbits electrons are in stationary states because their energy content does not change and they travel at uniform speed. However, disturbance by an impact or by exterior radiation may cause a temporary displacement of the electrons, which will at once try to return to the home orbit by means of jumps. Each jump is accompanied by the emission of a quantum of light, representing the difference in energy between the higher orbit just left and the lower orbit just occupied. His model gave the impetus to the development of quantum mechanics.

4. Niels Bohr received the Nobel Prize for Physics in 1922. He is a author of numerous books and papers.

II.Выберите правильный ответ в соответствии с содержанием текста:

1.Where was Bohr born?

a) Moscow         b) Copenhagen           c) London

2.Where did he get his higher education?

a) at Copenhagen University

b) at Moscow University

c) at Cambridge university

3.What field of science did he do his research in?

a) in the field of chemistry

b) in the field of electromagnetic waves

c) in the field of  electron theory of atom.

III. Найдите соответствующие русские словосочетания.

	was born

to investigate

the electron theory of metals

model of the atom

quantum theory

to change

to emit

radiation

numerous books and papers

development

	изменять

развитие

многочисленные книги и статьи

квантовая теория

родился

радиация

исследовать

электронная теория металлов

испускать

модель атома


IV.Перепишите данные ниже предложения. Определите по грамматическим признакам,    

какой частью речи является слово с окончанием «-s» и служит ли оно: а) показателем 3-го лица единственного числа глагола в Present Indefinite;б) признаком множественного числа имени существительного; в) показателем притяжательного падежа имени существительного. (см. образец выполнения 1). Переведите предложения на русский язык.

         1.In 1912 Bohr went to work at Rutherford’s laboratory in Manchester.

         2.He is the author of numerous books and papers.

    3.According to many scientists the history of modern theoretical atomic physics begins with Bohr’s atomic theory of 1913.

V.
Перепишите следующие предложения и переведите их , учитывая особенности перевода на русский язык определений, выраженных именами существительными.( см. образец выполнения 2).

1.Beloyarskaya nuclear power station is an example of the peaceful use of atomic energy.

2.Different cybernetics articles were published in scientific press.

3.Bohr entered Copenhagen University.

VI. Перепишите следующие предложения, содержащие прилагательные в различных степенях сравнения и переведите их на русский язык.

1.The more we know about the nature, the more control we get over it.

2.Each  jump is accompanied by the emission of a quantum of light, representing the difference in energy between the higher orbit and the lower orbit.

3.Niels Bohr was the greatest Danish physicist.

VII. Выберите нужную форму глагола to be и переведите предложения на русский язык.

1.Bohr ( is, was, will be) the creator of atomic theory.

2.He ( is, was, will be) the author of numerous books and papers.

3.Rutherford’s laboratory in Manchester ( is, was, will be) the center of research work.

VIII. Поставьте глаголы, данные в скобках, в Past Indefinite Tense.

1.Bohr ( to create) his model of the atom, working at the Rutherford’s laboratory.

2.Scientists ( to develop) new methods of converting one type of energy into another.

3.Bohr ( to receive) the Nobel Prize for Physics in 1922.

IX. Выберите нужную форму глагола to have и переведите предложения на русский язык.

1.Bohr ( to have, has, had) the doctorate for investigation of the electron theory of metals.

2.Lomonosov ( to have, has, had) a good knowledge of foreign languages.

3.Bohr ( to have, has, had) the gold medal of the Royal Danish Academy of Sciences.

X. Заполните пропуски прилагательными в соответствующей степени сравнения.

1.Isaac Newton was one of ( great, greater, the greatest) minds of the world.

2.Newton founded ( high, higher, the highest) mathematics.

3.They discussed one of ( important, more important, the most important) problems of cybernetics.

XI. Перепишите данные ниже предложения, определите в них видо- временную форму глаголов. Предложения переведите(см. образец выполнения 3).

      1.Henry Cavendish is the famous English chemist and physicist.

      2.Mendeleyev formulated his Periodic Law of Elements.

      3.Tomorrow morning the geologists will begin their work.

      4.We are waiting for him in the laboratory.

      5.Yesterday the students were making experiments in the laboratory from 12 to 14 o’clock.

     6.They will be studying English for two more years.

XII.Задайте  общий, альтернативный, разделительный  и специальные вопросы к данному предложению (см. образец выполнения 4):

Every engineer  knows properties of this metal.

XIII.Образуйте слова с помощью данных суффиксов. Переведите исходные и производные слова.

а)существительные:

· or: to construct, to translat(e), to generat(e)

· ment: to measure

· ssion: to transmi(t), to permi(t) 

б) прилагательные:

· al: physic(s), nature(e)

· ant: import, resist

· ful: use, power.

ВАРИАНТ4

I. Прочтите и устно переведите на русский язык весь текст. Перепишите и письменно переведите третий  и четвёртый абзацы текста.
IGOR KURCHATOV (1903-1960)

1. Igor Kurchatov, a brilliant atomic physicist of our age was an outstanding organizer of research work. He united the forces of great scientific institutions for rapid solving essential scientific problems.  He did much for establishing in the Soviet Union a powerful technical base, significant for the improved development of the atomic nucleus investigations.

2. I. V. Kurchatov was born in 1903, and in 1923 he graduated from Crimean University, physics and mathematics department. At Baku Polytechnic Institute he studied the electrical conduction of insulators. In 1925 he went to Leningrad and joined the Physico- Technical Institute of the Academy of Sciences of the USSR.

3. Initially he was interested in investigating electrical properties of crystals. This led Kurchatov to establish a new scientific field in the USSR, the study of electrical relations in materials possessing the quality of spontaneous polarization.

4. Nuclear physics drew Kurchatov’s attention in 1933. He did much for the development of this branch of physics in our country. For many years he headed the Atomic Energy Institute of the Academy of Sciences. He studied the nuclear fission, caused by neutron bombardment, nuclear chain reactions.

5. He was especially interested in the problems connected with the control of thermonuclear reactions and in their utilization for practical purposes. Under his supervision the Soviet Union’s first cyclotrons and atomic power stations were built. The atomic ice- breaker LENIN is also among his creations. 

II.Выберите правильный ответ в соответствии с содержанием текста:

1.What was Kurchatov?

a)
a mathematician;

b)
a chemist;

c)
a physicist.

2.Where did he get his higher education?

a) at Crimean University;

b) at Moscow University;

c) at Baku Polytechnical Institute.

3.What field of science did he do his research in?

a) in the field of nuclear physics;

b) in the field of mathematics;

c) in the field of radio waves.

III 
Найдите соответствующие русские словосочетания.

	research work

to solve scientific problems

electrical properties

nuclear physics

branch

nuclear fission

nuclear chain reaction

to be interested in

utilization

practical purposes
	применение

практические цели

цепная ядерная реакция

ядерный распад

интересоваться чем-либо

ядерная физика

решать научные проблемы

электрические свойства

исследовательская работа

отрасль


IV.
Перепишите данные ниже предложения. Определите по грамматическим признакам, какой частью речи является слово с окончанием «-s» и служит ли оно: а) показателем 3-го лица единственного числа глагола в Present Indefinite;б) признаком множественного числа имени существительного; в) показателем притяжательного падежа имени существительного. (см. образец выполнения 1). Переведите предложения на русский язык.

1.Nuclear physics drew Kurchatov’s attention in 1933.

2.He studies the nuclear fission.

3.Kurchatov united the forces of great scientific institutions for solving essential scientific problems.

V.
Перепишите следующие предложения и переведите их , учитывая особенности перевода на русский язык определений, выраженных именами существительными.( см. образец выполнения 2).

1.Kurchatov did much for the development of this physical branch in our country.

2.For many years he headed the Atomic Energy Institute of the Academy of Sciences.

3.He studied the nuclear chain reactions.

VI.Перепишите следующие предложения, содержащие прилагательные в различных степенях сравнения и переведите их на русский язык.

1.The more you read, the more you learn.

2.Technical progress requires higher standards of production.

3.Lazers find the most interesting application in science.

VII.Выберите нужную форму глагола to be и переведите предложения на русский язык.

1.Kurchatov ( is, was, will be) a brilliant atomic physicist of our age.

2.He (is, was, will be) an outstanding organizer of research work.

3.Max Planck ( is, was, will be) interested in music.

VIII.Поставьте глаголы, данные в скобках, в Past Indefinite Tense.

1.In 1923 Kurchatov ( to graduate)  from the Crimean University.

2.You ( to carry out) your experiment in this laboratory.

3.We ( to make) experiment with electricity.

IX.Выберите нужную форму глагола to have и переведите предложения на русский язык.

1.Planck ( to have, has, had) chief interest in thermodynamics.

2.Kurchatov ( to have, has, had) especial interest in the problems connected with the control of a thermonuclear reaction.

3.Our laboratory ( to have, has, had) the new electronic microscope.

X.Заполните пропуски прилагательными в соответствующей степени сравнения.

1.Rutherford’s experiments led him to develop a magnetic detector which at that time was ( good, better, the best) detector of electromagnetic waves.

2.A laser beam is a thousand million times ( bright, brighter, the brightest) than sunlight.

3.His experiments were ( important, more important, the most important) for research than  for solving theoretical problems.  

XI.Перепишите данные ниже предложения, определите в них видо- временную форму глаголов. Предложения переведите(см. образец выполнения 3).

1.Igor Kurchatov is a brilliant atomic physicist.

2.Kurchatov studied the electrical relations in materials.

3.Tomorrow the students will investigate electrical properties of crystals.

4.We are studying the main laws of physics.

5.Kurchatov was interesting in the problems of thermonuclear reactions for many years.

6.At this time tomorrow I shall be sitting at the lecture of geometry. 

XII.Задайте  общий, альтернативный, разделительный  и специальные вопросы к данному предложению (см. образец выполнения 4):

Max Planck studied physics and mathematics at Munich and Berlin universities.

XIII.Образуйте слова с помощью данных суффиксов. Переведите исходные и производные слова.

а)существительные:

· ion: to construct, to express

· ance: import(ant), assist(ant), dist(ant)

· sion: to devid(e), to decid(e),to conver(t)

б) прилагательные:
· ent: differ, insist

· ive: effect, act

· al: experiment, mathematic(s).

ВАРИАНТ 5
I. Прочтите и устно переведите на русский язык весь текст. Перепишите и письменно переведите третий и четвёртый абзацы текста.

N.I.LOBACHEVSKY (1792-1865)

	it was widely assumed by scholars

daring

was not intended to represent

self- consistent

a one- man phenomenon
	большинство учёных считало

отважный

не должна была представлять собой

самостоятельный

человек редкой одарённости


1.    The life and scientific career of the great Russian mathematician N. I. Lobachevsky was    closely connected with Kasan the town to which  his family moved when he was a child.

2.    In 1807 Lobachevsky entered the newly established University of Kasan where he showed remarkable mathematician talent. At the University N.I. Lobachevsky   spent nearly forty years of his life as a student, professor and rector.

3.   He wrote many papers on mathematics, but his fame was as mathematician “heretic”, the creator of the first non- Euclidean geometry. For twenty centuries Euclid and his system of geometry had remained supreme. It was widely assumed by scholars that mathematics, and geometry in particular, consisted of fundamental truths that existed independently of man. Two and two had to equal four and the sum of the three angles of a triangle had to be equal to 180 degrees.

4.Lobachevsky took a darling step and created a new geometry, which was not intended to represent anything “real”, it was simply a self- consistent mathematical system. It is to be found on the surface of a curve called a pseudosphere. Lobachevsky’s geometry had revolutionized mathematics and the philosophy of science.

5.Lobachevsky was a one- man phenomenon. Moreover Lobachevsky was a very good talented organizer. He organized the library and laboratories. He even studied architecture so as to supervise the building programme of the University. Besides that he led an effective fight against cholera in 1830 and against a great fire in 1842, saving the University each time. 

II.Выберите правильный ответ в соответствии с содержанием текста:
1.What was N.I.Lobachevsky?

a) a physicist            b) a mathematician      c) a biologist.

2.What did Lobachevsky create?

a)
non-Euclidean geometry;

b)  Periodic Law of Elements;

c)  Electron theory of atom.

3.Where did Lobachevcky live?

a) Moscow                 b) St.Petersburg                   c) Kasan.

III.
Найдите соответствующие русские словосочетания.

	closely connected

remarkable

creator

mathematical system

surface

talented organizer

architecture

to remain

fame

to supervise
	талантливый организатор

слава

поверхность

архитектура

наблюдать

оставаться

тесно связанный

создатель

замечательный

математическая система


IV.
Перепишите данные ниже предложения. Определите по грамматическим признакам, какой частью речи является слово с окончанием «-s» и служит ли оно: а) показателем 3-го лица единственного числа глагола в Present Indefinite;б) признаком множественного числа имени существительного; в) показателем притяжательного падежа имени существительного. (см. образец выполнения 1). Переведите предложения на русский язык.

1.Maxwell’s theory showed that electricity and magnetism could exist in isolation.

2.Lobachevsky wrote many papers on mathematics.

3.Radio wave passes through the atmosphere including clouds and fog.

V.
Перепишите следующие предложения и переведите их , учитывая особенности перевода на русский язык определений, выраженных именами существительными.( см. образец выполнения 2).

1.In 1807 Lobachevsky entered the newly established Kasan University.

2.The new laboratory equipment is very important for our experiment.

3.The energy sources of the world are decreasing while the energy needs of the world are increasing.

VI.Перепишите следующие предложения, содержащие прилагательные в различных степенях сравнения и переведите их на русский язык.

1.The greater the number of free electrons in a substance is, the better that substance conducts electricity.

     2.The highest building in Moscow is the University in Lenin Hills.

     3.Moscow is more beautiful in winter than in summer because of the snow.

VII.Выберите нужную форму глагола to be и переведите предложения на русский язык.

1.The life and scientific career of Lobachevsky ( is, was, will be) closely connected with Kasan.

2.There ( are, were, will be) only two kinds of energy transfer- wave motion and particle motion.

3.The Celsius scale ( is, was, will be) the scale used in most scientific experiments.

VIII.Поставьте глаголы, данные в скобках, в Past Indefinite Tense.

1.He ( to organize) the library and laboratories.

2.Lobachevsky ( to spend) nearly forty years of his life as a student, professor and rector.

3.Lobachevsky ( to take) a daring step and ( to create) a new geometry.

IX.Выберите нужную форму глагола to have и переведите предложения на русский язык.

1.Lobachevsky ( to have, has, had) a talent of organizer.

2.Ultrosonics ( to have, has. had) many uses in industry.

3.Solids ( to have, has, had) a definite shape and volume due to strong intermolecular and interatomic forces.

X.Заполните пропуски прилагательными в соответствующей степени сравнения.

1.Electronic computer became an (important, more important, the most important) device in our society.

2.After Moscow St.Petersburg is the second ( large, larger, the largest) and (important, more important, the most important) city in Russia.

3.Cambridge University is one of ( old, older, the oldest) universities in Great Britain.

XI.Перепишите данные ниже предложения, определите в них видо- временную форму глаголов. Предложения переведите(см. образец выполнения 3).

1.Solids have a definite shape and volume.

2.Lobachevsky was the creator of non- Euclidean geometry.

3.Our laboratory will get the new equipment.

4.We are fulfilling a difficult task now.

5.The dean of our faculty was making a report for an hour.

6.He will be working the whole day tomorrow.

XII.Задайте  общий, альтернативный, разделительный  и специальные  вопросы к данному предложению (см. образец выполнения 4):

At Cambridge Maxwell graduated second in his class in mathematics.

XIII.Образуйте слова с помощью данных суффиксов. Переведите исходные и производныеслова.

а)существительные:

· er: to read, to report, to convert

· ation: to combin(e), to inform

· ence: effici(ent), depend(ent)

б) прилагательные:
· ive: product, conduct

· able: compar(e), valu(e)

· less: weight, motion.

